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An Analysis of Tag Question in English Textbook:

With Special Reference

to Middle School English and Survey

Ha,Yeon=ju

Graduate School of Education

Pukyong National University

Abstract

The purpose of: this study 1is to .analyze .the type and
frequency distribution ~ef tag questions in Middle School
English textbooks and to check how properly future—English
teachers wuse them and to help them learn and teach
techniques of tag questions in English.

For this purpose, first, 30 Middle School English textbooks
were analyzed according to the frequency and variety form
of tag questions. The detailed results of the study are

summarized in the following paragraph. From 30 Middle



School English textbooks, 171 tag question sentences were
found. Among them 91% of all the sentences were
contrasting polarity tag questions and only 9% matching
polarity, which were all imperative sentences. It was also
found that more than half of the sentences were used with
auxiliary verbs 57%. With the tense, most of the sentences,
85% were present tense, followed by past tense 15%. 91%,
almost all sentences were predicate, and the rest 9% were
imperative sentences. There were no exclamatory sentences,
compound -sentences either. The most frequently used
subjects / of tag questions were . 'vou', 52% and there
occurred no T

With the results above, it was found that there were not
many sentences with tag questions in the textbooks and the
focus was' on the simple  grammatical form of tag/questions.
Moreover, the. tag:-questions were not of.wvarious types and
occurred in the praetice drill or short conversations, not in
the full context and all tag questions were practiced only by
the normative grammar.

Second, a survey was conducted with 41
prospective—English teachers, majoring in English Education
in a graduate school to investigate their knowledge and use
of tag questions. The findings showed that many of them

didn't fully understand the tag questions and wusually used
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them according to the normative grammar.

The study, therefore, suggests that English textbooks
should contain more various and practical types of tag
questions in the full context to help Korean students learn
and use them in real communication. Furthermore, Korean
English teachers need to make an effort to acquire the
correct knowledge of tag questions to teach proper use of

tag questions in real life.
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R7FE R (tag question) & 3t A4F AgEE Fejolrh. ol
el oRRoltty BYAAY AS srlncks A, d
W, BE Fol UF ol Fe Tahsd AL 9 EE

Folth dgkal WAk RES oekE AdngA guge F
9 WINE 7S ) take ololks Fadslsg drh

Fo] FEIMEE2 thad #2o] = i(host clause) o &2 o &
B (tag)o] HalA = @E= Heln dutdo g ZH ALE Ho

L 29 gzt FEO AEE GElE 399 tagrt webe . B
F (aA 47t Bere 339 $92 Mdsm 339 2
gol F3 tag® AgFT AD)AY FANA £ 39 7]
e g AT tag S ALgITE

(1) a. You met Alice yesterday, didn't you?

b. You didn't meet Alice yesterday, did you?

Cattell (1973) & H71o &89 oujAel HE m&atdA 719
Toe FHE 7 MY ol uA Aok Weof AAuo] = o
2 R LR A wdS9 dHIoE o] gue] A



FA89 tagZ7t T2 F(polarity) & ol W, F T2 tag’l FA
o FAOIAY Al FAY wi= ‘FYU=" (matching polarity)
olgtx sttt} HblZ F=23} tagZl AZE & S5 olE = ‘U

2=’ (contrasting polarity) o2t & 2]} t}.

(2) a. John has left, hasn't he?
b. John hasn't left, has he?

c. John has left, has he?

Lakoff(1969)+ (2a)1+ (2b) o} £ U= F7loEo] L4yt
Al At A as (209 R, 5d= HIgRES VME

AEE 7= SHARE JReHolAY AdRe] thE u| = xelvharnt

g 4 9l T Pl REL B3] gke] Ot So7t 94 o
v R PR FESRL J1AFORH SR EE D A

Brlgrs FrAow AWnd Aswe AP} 5ol

& A tagh FAAAPE oAtk AT AEEe] FAHHAL £
]

(3) a. She is a teacher, isn't she?

b. She isn't a teacher, is she?



F7H e Aol it 9 I’ olw  Quirk, et
al. (1985) 2 tag7t & X=o] FAolvy, FHolv & tagZt

E ekl wet o] 7HA] FEE ForeEE

ol
ol
ol
o
1o,
dlo
BN

(4) a. ¥4 + 7% (Rising tone)
He likes his<job, doesn't he?
b. #74 + 87 (Rising tone)
He doesn't like his job, does he?
¢. 274 + F& (Falling tone)
He likes his job, doesn't he?
d. ¥4 +:F7d (Falling tone)

He doesn't-like his job, does he?

oA (4a)+= 1 assume he likes his job, am I right?2] 2]n]
ol (4b)+ I assume he doesn't like his job, am I right?E <&
gt (da)= A 7HEelA FHA VidE 2 4 9la, (4b)
= 549 7N THA JIdE & 5 Qv S da), Wb =

l

39 o RYoE UgT + dd o9 P& HF $x9 Wb
JREES EHAY ol B9 HQY & FuA T W AL



e REE ohyrh
NRE ANE AF AFEAL AW et Fohrel &

(5) a. So he likes pizza, does he? (Rising tone)

b. So he doesn't like-pizza, doesn't he? (Rising tone)

(5)9 A9 QAL Feexolr Argel oul Bd BL o

2AY Qe 2ed w2 Mg aY. mebq 2% o] so

U oho} /RS EHES] AF @71 AHEHE. Wt S oA o
3]

B A7 B SHCl FARIE B E o Uk

e. 34 + T4 (Rising tone)
So he likes his job, does he?
f. #4 + F7- (Rising tone)

So he doesn't like his job, doesn't he?

(4e), (4D ¢} 22 FL=el dsliAe ths 2.4 F71eEw9 7]
oA F O AAMB] AH KR

2.3 #7179 7%



o] Aol Al H7FOJEES] Fojel R ISJREE] ofg Jbx] FElo] tis)A
AR okth dojell glojxl FEj9] Aol F ojule] ifo]E TEh=dl
doid o] ek theFet Frke) it Felel wE wjEo] AR ojulgh A}
o7} Qd=Al, Z47hel 7l wisl Ae R

5o B 18 B ERl t$t Cattell(1973) 9 ov] B3} ARg

S =X 3} 3 Aot} oJ7]A4 P PositiveE N2 NegativeE 2Ju] st}

<HET> R7I2E20 ot Cattell2] o|0| M1t AHEH

#3 g e | AEEd v &4
P N T2 89
7 S o] ==z}
EEE * 5 2o AR
sqe P P | S8 F8ol | olH 8
N N opd. 5 8

<E1>ol ehd ag o gHolet kAl Apale W&ol o
AAeRE T 52 Bl ta FAL Pa @ 2t Aol
W, weld $He SAT A Al Az ME s Be Fowy
WAGAY B Aol AEd Ygol et loprel s 5 v
Wadk & W AbgEeldTh Tex wEA gwolw A

o] SE PR ekl teFet 75E Ay o)
g AA2PA ARFAL olo] P A% FUOE AT
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o, i FATE Ao B FFer 1 JEAE FleH
7] Fo)E AAE TsorE 2t

BobelERe] J)sel vat BAe Bge B BAN F o &
A3 A BAL

(6) a. The movie is interesting, is it?

b. The movie is interesting, isn't it?

(6a)= 3pA7EA FYBE BA ke A5, 2 EdHEE 1
A
=

e AL A% AT 5 Ax R RO oY
=]
»

(7) The party was nice, is it?

SASEE (D& SR B4 0 Sl A8 £4 Qsitha
A7 PG B OB olES sE EAAGT B
AZsta Qlormg AL x| HlojA o7 X sy & slu)

(8) A: The party wasn't nice, isn't it?
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B: The party wasn't nice, isn't it?

A: Right, That's what I mean.

B: I'm not sure but perhaps you are right.

The party wasn't nicez}

Fal Ttk B

d|

2 —8-Holrt,

thee oRE pUtelEE Suel alA sl

(9) *'a. Did you win the game, didn't you?

b. Did you win the game, did you?

*'¢. Didn't you win the| game, didn't you?

np

oF
np
np
oF

il
nr
Ho
I

ahf

ol

Foh. L2t (9a) 2k 3E

)

=
[e)

Agol 7t

(9b) &k (90) 9

T Ak

i3
=

&

A}

al

B

EIRTAC PG B

A Y Ao R AREH AL lthal

= Wb R d

]
=
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w3k Cattelle] 9
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(10) * a. I'm sure that's right, is it?

b. I'm sure that's right, isn't it?

th= wheiz 83

alg

(10a)

ojuf w2 g§¥ow ARgHE AolA% (10a)°lA I'm sure

[e)
R

Rk (10b)

F7HE S d e ok FH el o

L
) =

o[ 4]
¥ Btk Al 3

ZO]—

A=7HA A2

Ak
=

ol v el A

7
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HE S g frshs Aol
Sl upe prllERe] R E AR Avks <E3DI Lol
Ehsket.

<E 3> S(polarity)of| T}E FIIQEE X
R 435 Al
Al 156 (91%) 15 (9%) 171 (100%)

B[l

<E e AVMESE W AA FrReEEs diESol dA9
91%= 4=l vls] 458 Wol yeEtt. & £ (1D
Aol vebd diy= F7He w0
29 FHEolth

i)
g
ol
=
&
flr
offl
e
1
1r
~
Lo

(11) You are a teacher, aren't you?
(12) A: Wash the dishes before I come home, will you?

B: Okay, I will.

<G e HEs, L= ke

i
i
>
<
o
=
ol
o
—\TL]
1
o
lo
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<E 4> S(polarity)0i TE FIQERS 3F/FE =X
El

=74 73 7
= 36 (23%) 120 (77%) 156 (100%)
Y= 15 (100%) 0 (0%) 15 (100%)

HH=S WellAe 49 F7FeEE (negative tag)o]l 77%=E o
H=9 3/4017do] AREESIAL, TAd=9] Agole A UM%
wRE ARG EGI O A RIbolEwe s AREHA odtd T
S WAl vEhd So] mE Rt EE e IS FEEE
g9 Aaiol F49 tagEs 7K FEIZF A Bol AR HIAH

=9 (12 i34 9 delm, (14)= dH= 54, (15)

TLdF 49 o4

H

rlr

(13). He doesn't like math, does he?
(14) You are Minsu, aren't you?

(15) Let me use the phone, would. you?

<E 5>+ <X oA yepdt A¥E g pFAFoR shddg

shotal] # Zlo|t},

Ho
Ho
HI
H

(E 5> Z(polarity)0] Z stAH H7}9|

611—1/:1
. 1 2 3 Al
= 85 (54%) 43 (28%) 28 (18%) 156 (100%)
A= 0 (0%) 13 (87%) 2 (13%) 15 (100%)
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i

fom 28hdolA Fu 87%u vrEbETE 2R AA

REIZY

o)o

A= A

TE

o] A

Faoll A e T

‘mo

WA

).

(16) A:'Give me a hand, will you?

N

B: Sure, what is it?

(17) A: Clean up the mess for me, will you?

B: I sure will. / Sorry, I can't.

(18) A: Please: tell.me one, will you?

B: Sure. / No_ Problem. / OK.

@7}

29

t}

o
e

(16)—(18) 9] 59 H7he| &

O
aig
ﬂo

o|]

aid

S R R RS

ol&

A,

=
=

Ho] will you

=]
5

Jo

)
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T A o] ZollA ANE T

(E 6> SA| EHE FIIQEE 2%

A S Bl I S be SA have FA} 7
Al 99 (58%) 70 (41%) 2 (1%) 171(100%)

o] %o gJstd FZRSEwell ARRE SAIE ZFAE AAY
58%% 7} Wokow 1 th39] he ETAF 41%, LS have =

A= 1%°] T

(19) a*You can play the piano, can't you?
b. she is your sister, isn't she?

c. You've ‘been there before, have you?

ZEA do will can Al

Al 79 (80%) | 15 (15%) 5 (5%) 99 (100%)
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F7R Tl 7HE Wol AR E EAs do® AAC] 80%FE At
AT, o r wol AMRE £E A= will 15%, can 5% o
mustt} should, mays¥ 2& FEAR: A3 UEA ddkes

o % 9k

< 8> FAMY AlAe e FUTorr e HELEE HoFT
<E 8> SAMQ ANAYEH RIIQEE 2%
A A A A Al
Al 25 (15%) 146 (85%) 171 (100%)
o] ¥ & F Slol RIS EEelA AFRE AlAl= HAAA

7b 85% = thHEol AL A O] AREE 15%°]t. ol HUEEE
o] F= 3ol Agdue d= olfE & & Utk ¥ 19
d waM M E B AAAA T wille] FE7 A vEA o
et ol 1shd w3 el sd=o] A8 AAHA b= 3 =
ge ¢ vk olEiTEa Mo e R ST dA

AA T e A willeh AR B ol WEEolY 2 Eel e
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& 7HA7] ol tisAl Aol tigh A E s dist Adiu

o A 34 Wl olopy] st AU womE RAAdREBL

il

[to] AHES A 613 & 4631, = AA 3AF @5 Fo19 75%
2 953 %ol vehdth 39 H54 They’t Fo=

= 8%t IE AL 11 Folo] ARge] T Ao
Fol 2 AR bR As yERA ekgkth 1 #lel® no

one, anyone, every one o3 #o| QA 7k FHACRE &

1

FolAnt Eulo] wel BEg aa sbed A da AE v
A T Theres TOI= & Afghol7t A=d 2571 44

134 A

1 9] FolA (spoken) 2F o] A (written) ol wel F7FolEFo)
et RIEES AEsith oA FIRe o] F2 dighiel
Efdts Atz RS (A8 EE AF distAe ez

debkeh 2@ GAA-AAT A Askn Ae RRe P RE

(20) A: You like pizza, don't you?
B: Yeah, I love it.

a2 oAl Rkl AAE A= vl TP ¢

7+ AT,
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(21) Amazing, isn't it?

(22) Many of you have difficulty solving your own

problem, don't you?

D2 AAe] vaEEe] #a v 2% e Tl WEhd

FHo 2E g wekes Bxstud ASE Rrlelgie
2 ¥ 5 Atk of7)A E shiBolg e WEEe Folg ¥4}
['s7h ARt golth (22)% dHe DIk ¥ Agshs
Fol e Sk R Rolt) o]t FHAAZIE ZA4H o]t

To R w5E 7 ECiEe! U S O\ o] Ho)
el Hehbe SRS Al JRs Vs vk
AL i MO EE FAZTE SAZESF e o3 ANS 2
Z1HtE F2 AEEe] de A 4k N1SHER B F 9
At

AF7AA ] wap w8 Fel g dEs AeE By e
2

O T go] wIHA A B EES T2 dialoguelt drill,

oA ANHY 15 BE
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=
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B7b 955 wol gtk 1eth

[¢]
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1. Each of us is staying, ?

@D aren't we @ isn't he @ isn't he or she

2. I have been waiting for a long time, ?

@D don't I @ haven't I @ have I

3. The child is crying, ?

@D isn't it @ isn't she @ isn't he
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4. T don't think that Dr. Spook is honest,

@D is he @ isn't he @ do I @ don't I

5. My cousin is handsome, ?

@D isn't he @ isn't it @ isn't she

6. I have five cents in my pocket,

@ don't I @ haven't I

7. 1 am doing better, ?

@ am not I @ aint L. @ am I not @-aren't I

8. No one watches TV any more,

@D does he/she @ does he @ do they

9. One of my friends 4S coming,

@ isn't she @ isn't he @ isn't one

10. I suppose that you are not serious,

D do I @ donn't you @ are you @ aren't you

11. Everyone likes me, ?

(D doesn't he @ don't-they @ doesn't he/she

12. Clean the room, ?

13. I may see you tomorrow, ?

14. Don't study too late, ?

15. T have never been there since I was 12,

16. You ought to study, ?

17. Let's go, ?

18. What a wonderful day, ?
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S

19. Either Johm or Sue will stay,
20. Neither Sue nor John stayed,
1) Mary is pretty, is she?
2) Mary is pretty, isn't she?
Either A or B¢} Neither A nor B
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‘The child,
¥} o] s wykA 9
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cousin, One &3 ol FAYAL
239, beZEAl am, ZEA} may, ought to
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AgRol wEel BB mAoR 21gAE F A £
& ANee] o ANHRA FowA FAZT I wAE
o hef Avivk ] olshsa YEAE Lobn A Fk.

4.2 AEX A3

BANEEY FoTo] isk-dREolA AA S9A 419 F
37%(15%8) 7} L3k, 51% (219)7F B350tk 12%(58)°]
gttt #al SR Fre el s drhk ofsskal 9l
T AZeteAdd #e A& R EES 49 sl olsiEt
AL 4= Qlthal SEek B WALE 84%(147), F7Ee Rl o
3 olsistar Yo AR&et=dl olEle S Attt 66%(27%) =
SEA Hokert FztoEte] [T Qstttays A EA R A et
Abge ik ol el g yrERTH

4.2.1 o9 AAH.F
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(23) a. Your brother is very smart, isn't he?

b. His students help him with the project, don't

they?
KEILD>S Fole] ol #3st FrheiEi s ZAMEHE Hojst
HA Fo]9] Frof #3F HUL RS FASH] Y&l dimolA AR
H e e 2o
(24) Everyone likes me, ?
(25) No one watches TV any more, ?
(26) 'Each of us is staying, ?

<H 11> 09| d.4~0 et 2ICI=& TAHE L
s
he / she they (we) he
AR Fo] B
Everyone 25 (61%) 14 (34%) 2 5%)
No one 23 (56%) 16.(39%) 2 5%)
Each 21 BG1%) 17 (42%) 3 (7%)

9] <FE 11>oA AHEd AEEe Fo7t e HAFH 45
o WMol el we pohEe] FolE W
&3 "2 B Qo). B Y H AL everyone, no one, eachs &
G FFII, Tl A4S e B 3] WE AEel Be o

Hl wAbEo] @l @ he & sheZ Whe F7loEd& Adst
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ATt Heo®E Wol U2 FHE FoE theylt weZ W A<l
ol g7t o] FojA = v A4 (informal) A3ellA AAXHA AHE-
= 2vkE SRelth 71£9 Langendoen®| AR Aok o
o] m=Ql WAREO] FURES FolE SR dddnta uel 9%
of, 9 ¥ W Huis oE5Y FojoA AA AMEEH= v F
3ol vEhd Al X HojXith

Robe el pohEe Folel e Aunoz dawe Fof

o 33 Al sl ok FhH

(27) a. Alice likes jazz music, doesn't she?

b: Joe is-very handsome, isn't he?

Folo] Aol Bk A FEL Tl Ay oz G
YA heZ wrow W} & APAFE o3 S wWe
ofFlel wet e AT vl (28), (29), (30) XA H
A AR FAR 7 AR FrbeERel e teksk 3

= <3E12>] vER QT

ot &

2

jin)

(28) One of my friends is coming, ?

(29) The child is crying, ?
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(30) My cousin is handsome, ?
<E 12> F0{9 M (gender)df 2tst CHH AL AFERE
i=] 7 ,E’___O =
XJ%%’_—?JZF—; el el he she it / one
One 21 (51%) 1 (2%) 19 (46%)
The child 16 (39%) 2 (5%) 23 (56%)
My cousin 34 (83%) 2 5%) 5 (12%)
28)°l st A 51%7F 729 FoA2 dA dlHAF he
2 Hdadr), ol JAL UEE B T3 (unmarked)@Ato] &

Ad P EH ol=HH TRl B A8 d 5 2 FEEH
X EFAH oned T WA AFNAE DAY onelE A AE =T

Langendoen® ZAAE thH-E9] v]s wAFE9] heE AFESH
Ao 7 el

(3002 cousin®l FAWALE A& TEET 5 QAT heF AME



Z}7F 83%<A Yl H8l]l shes AFEst @A+ AS 5% =

o,
olo
A

HPet. o= TAHAA Hol2 ARE¥ ¥ EAF handsomeo] FE
o] whE ARS o KRt

Al either A or B$} neither A nor BE To|=
ARG o] FUFeEAnel weh A Ao

(31) Either John or Sue will stay, ?
(32) Neither Sue nor-John-stayed, ?
<H 13> HBFSMIE 02 BIQEE ZARELY

F7hE 9ol
A B A or' B they
o] F=0f
Bithbr " B 8 18 4 11
i g (20%) | (43%) (10%) “ |- (27%)
Neither M. B 6 19 5 11
SIS (15%) |} (46%) 12%) | ©@7%)

X
b

A BT oxtelA 27 109,

0} o
o

ZY7y 43% S} 46%

$EA7H

2= A}l either A _or B Y neither A nor B7} Fo]Z A
g A% Bol Wk FAE AFeel HoHE oA Bel FolE Ui
o] #H4& uet B

A= Ast BE 37 whot

A s

12%4

j=d
-

&AL o3

=

o 27%% AA WY 19
%95} he/shest ol
Jeng

= A

ZHLEA] ojsfigh oAumAtEe] ENte HX ¢kas Bl
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4.2.3 ZA}

Bkl ALGE A HEUR AEAZ

S
1x
%
r
ui

(1) Be &AF
AEE FAE beBAkel A9 BAEANE 1 beBAE AHS
(33) a. The park is beautiful, isn't it?
b. We are going swimming now, aren't we?
S beBAt Fol 1903 dine] A we odnl mAlEel
AHFS =7l A BT ol wFAle A AAEHA &7 o

o7 % & Zo|th

(34) 1 am doing better, ?

Afedo]el vB]ZA2 Fo]A (informal spoken) A= am not2]

=k ain'te} are not? F9FE aren'te] EF ©F AFEE I Qi)
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B 14 1218 SARE =AHEL

Ttz Sl S A ain't | am not | aren't | am | not
MN=Fos
15 13 10 3
am
(37%) (32%) (24%) (7%)
<E 14> 2B 9 aint7} am notd 423 o|gt= Aoja] @

SHARI 37%7} ain'tE ol&F FUlEs A

23513
ShA] @43l am not I & IthR ARES SHAE

o

A
StA Nt aren't I 7k am I note WS AL S <= Slas <1 A
S He AERE SEHAE 24%0 E3F o1l WA= The
American’ Heritage School Dictionary (1972) 9] th53 o] 4

s e,

ok

Aren't! I standing for am I not... is originally a British
variant. Unlike ain't, it's now fairly acceptable,. especially

when used in“speech or_informal writing.

o]x¥ ain't Ethi= are not? QI aren't7} Ao vl of
o] FojAl= EE H|F FoAlqAE AMEEHT S5S EIlTFa
3}

=
oIt} oF 400ydo] Ak o] v]Fedoo At ain'ts ¥4 Sha



(2) Have =A}

have EAF= QAHFEA}S} ZEAF 5 7FA 8 AF2 ¥ T AR A
haveZ} QHFEA}LS 2 S 7
have’} ZEAL=Z

.

(35) I have-five cents in my pocket,

ARFSALZ A2 E haved AFA dal= <E15>% o] YElR:

<E 15> YBESA havel| FIIE& ZAFE M

AT , ,
225 o) B A} don't I haven't 1
UREs AL have 34 (83%) 7 (17%)

(35)°ll4 have= ARFEAFZ H-7hHEol= haven't I ¢ don't I &
t} Abg-7bs ettt kAR don't T & AFESE H97F 83%= AR W
o] LERT.

& haveZlb ZEALR AREE Aol <E16>2 oldtfdh A

B4 Aug $AI Rl
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(36) 1 have been waiting for a long time,

CE 16> Z=SAF havell FI7I9 & ZTAHE R

Tkl s At haven't 1 don't I have 1
A48 SAF
Z %A} have 35 (83%) 5 (17%) 1 (17%)

(36)9 A% AABES] haveBAbolE2 Wrhre] gHR7E
254 have® AESATE (35), (36)°1A% AnHEAY 2EA}
havee] FEARES sohdl Agolch B4 Qom EAAT #ryt

A TR Fek 457 i v @ foldlor @ 4 2k

_,4
()

(3) &=&AF May
AEo] mayshiR8le A9 HAAReAE may ol 96l 9wz}
Hl 25 o8 7HA] ZeARSE W] mat AR e = Qlth. o]

@ o] WAES $ES AVRA thg P

(37) I may see you tomorrow, ?
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KE 17> Z3A mayQl BIIQ282 A

b o A} |
may I | won't can't shall | will S
T H
A Zr o) =] not I I I I
16 10 5 3 1 6
may
(39%) | (24%) | (12%) | (7%) | (3%) | (15%)

2EAEC] AR 1 F AERY mayE FoHEel AR S
HA7F 39%% Vg Bk Tho® W $HA 24%7h won't

[ & AMg3 =0 Langendoen? FApe|ME WO nj=t wAlEo]
won't I5 Aes Aats wWojFEic) o]o] thall Langendoent ¢
o] FAo] 9wtz vhZF ‘It may be that I will see you
tomorrow. 8} 27| wiFolgta Bk # AEA A= (37) of
of SREA 2 v AT 15% =Tl i o] f7) ol

(4) ZEAF Ought to

ought to FAEoltt SEFolAl= should’}t dREA S 2 A&

Hop, FEIpo)EREo] H<EHFo| ought to’} AFEEHSS S+
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should& AF&3t7] H

(38) You ought to study, ?

E 18. =S Al ought toQ BEIIO 22 ZTAMEt

B7HE
o oughtn should
5 At don't will mustn't | won't oo
ZL]_% lt nlt TToH
54}
ought 12 8 7 5 3 2 6
to (29%) | (20%) 4~ (17%) 1-(12%) | (7%) | (5%) | (15%)

<E 18004 &R AFEE ought tos AME3H SEHAVE 29%=

A ggon o gk A wE BEg Feol el

gk}, &A% Fel shouldn't yous AFESE SEA}E= A9 5%

ERgon $Fg ofH -3 AFE 15% W, &S o] ought
7

toE AHER FUHoEEol- Al 9F2 TolUE & Aol

AR P EELS tord dArE Yehitd F7 ou

= g HolEel Ferl 100% will youw UEREAT 24

W e 4% thgst gol ofel /b4 2BAL AR & glu.
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Y YR A

(39) Open the window, will you?
won't you?
would you?
can you?
can't you?
could you?
couldn't you?

o= will you™t AFE7Fs3ke. 134 won't

o

(40) a. Don't be late, will you?

b, Don't be late, won't you?

HE o R E el td ARuAEe S92 SHEEEH
, A
(e}

HEiE o el BAsE Bott (41)S

(41) Clean the room, ?
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Mo
P
>
M
X

(B 19> T2 FIe2

FI7HE5AF " don't won't aren't
=4 FF A you you you you

we 22 10 7 2
(54%) (24%) (17%) (5%)

Aol gist SR <3 1955 Ayrd gy s 9
AAAE 2 will you 7} 54% % 7FF Wol] YEtk 1 ggo

=
% Wo] U don't youd A FHEHAEC] cleans FA T

(42) Don't 'study too late,

CE 20> FEEZES FIC=E AT

T
A will you do you won't you no reply
24
}_E
o 1T
T 17 (4%) | 11 (27%) 9 (22%) 4 (10%)
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Sl > Sttt
Let's7F AF&¥ A Qb A= &2 34, T4 #AIGe] shall
wes AFE-sho),

(43) a. Let's go hiking, shall we?

b. Let's not watch the movie, shall we?

kAR Alqlo] otyal, F7Y QA= A AT W Eo
A8} pEzE7FA £ will you, won't you, could you 5 TFF3sHAl Af
€ & T Stk

(44) ‘a. Let me see that, will you?

b. Let. me know the answer, won't you?

oAu] ol WAFEL o EAls Bs (45)8h e Aekelnt
Aol et #7hel

=

wEoda] KF21>¥ A AdE Bt

(45) Let's go,
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<E 21> dRE9 FIHEEE AL

T
At shall we won't you don't we aren't you
24l
z==
o 1T
A 28 (68%) 6 (15%) 5 (12%) 2 5%)

Let'sS AFE3E A|¢toA]+= shall weS {7102 Snvl=24 tof

T SHAE 68%7F Ltk

N

N
(i
S
flo
Ay
Ao,
ol
o
Ao
)
i
o
filo
N
)
o
—o
i)
N
2
g

~
> |
2
2
=
:(I)l='

(46) a. What abeautiful flower it is; isn't it?
b. How pretty she is, isn't she?

*c. What a nive movie it isn't, is it?
el 7w MAewel dist Ade gds &7 ®mu
]_

= 37 & doll gis 4z 715e o R e 171

F5o tst ARExA oA <E22>9 A¥rt el
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(47) What a wonderful day, ?

(E 22) HEHES FIIOZ2E ZAHED

F7HE A isn't it is it T
7 57
7rek 27 (66%) 6 (15%) 8 (19%)

< 2250 weR e Suel 66% FHY LIRS AE
sfgou RAY RARS AHEE AL 15%, HHe S
e AL 10% HIITh AREE LT oAl Selihet ol

w3l AL yentA] of= Zoln el Aol it is7h A
2k

i

(48) a. Mary believes that Jack is a student, doesn't
she?

*h. Mary believes that Jack is a student, isn't he?

(49) a. Alice said Mary believes Jack is a student, didn't

_45_



she?

x*b, Alice said Mary believes Jack i1s a student,

doesn't she?

*c. Alice said Mary believes Jack 1s a student, isn't

he?

(48a) ¢} (49a)= F7HEe Folek AL 49 F9o, FAS)
dAstE e gk Tt A RE-(48b), (49b), (49c)= F7hE
o] FHA Fol FASt YA HJYOE R HEHEQ] ot

Y JAF:8f(2002: 127)+= F429 FAt believe, expect,
feel, intend, proposé, suppose, thinke}  Z& ' FHolRiH
(trnsferred negation) & A3 st= A

Brole Frd v $54 gEEn

(50) a. T suppose she is a teacher, isn't she?

*pb. I suppose she is a teacher, don't I?

aeu T Fol7t D ohd At 94 meld (48),

(49) A A T4 F=-AAIT,

ot TEAA FAE FEAL ARstu Qb xAel I

suppose®] UA| 931 She is a teacherel] 7] wjFo|c},
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(52 dol»gz pAR Feolrh FAele 13l0] PR
A el QNE ST F5A RYolst FAR FEHE

37} ek

(52) a. I don't think she will come, will she?
*b. I don't think she will come, won't she?

*c. | don't think she will come, do I?

(52a) 9] A<E& A I think she will not come FEjolr] K

e BEA ppe e iRy 1 AvkEdelt 4
olv BEA(FEEH)e] FAo] ¥ FgAY ol
boggias dolng ¢ Ziandeld 35w s mo
(53¢ %A%t AolEA e o)W <E 2352 (6D TH
o vg 4] Awtolct.

S|

[
il

10,
N
s
rlr

N

(53) I suppose- that | you —-are not serious,

?

(B 23 FH(3F)+EL(2Y) 2IIIRE ZAAT

7R SA
are you aren't you | don't you do I
=3 T
R 28 11 (27%) 2 (5%) 0 (0%)
(68%)
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(54) 1 don't think that Dr. Spook is honest,

2

B 24 FR(RY+EE2EH(3Y)Y FIIEZE =AML

e 4t isn't he is he do 'l don't I
=39 FF
30 6 4 1
Hi
(73%) (15%) (10%) 2%)

4.2.7 F4=

o BRI Fd =, Sl @ ARl aAEe] ol s

AES dotrr] 913 A Afeltt. & A AEoA v
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FRTE U™ A 15%
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°©

(55a)
] oist
SIRSES) =

-

-

$7bol R

A=

o3 7] e M

1
(55a)°l o

]_
b. Mary is pretty, isn't she?

S 244 85%7}

o] 744
Fae.
=t

(55) a. Mary is pretty, is she?
]

T

=]

RN
S
o

l:r
A A
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H] LA Bl ob A 2
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=

W 2] 7} o ue x| ok rhal Azt
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AHE FAFE besAb 41%8h ZFAF 58%7F 7HE ol uEhats
o 53] 8A TAME dosAzE A8 difteln 1 9e =%
A} may, must, ought to, should &2 F7Fe|iEE2 3 Zo} &
T glol 1 290l vekskAl Xakdith AlAls AAAATE TT% R
Mg B ZJor yehow AEE Fi

MuEwol 9192 253 W HAEEd BES 8w Jojuy
Aol A s dEbA] Skt HUEEE] Fole FE 29713 3
ol AAL 89%EF AHA k. shd

T Aok wEA Sl =] SRR o] A A ARgEe FUHe
v o T 2 I gttt Vs 7EEA 7] SlEiM =
o wypA ol F HrreEsi B BT
g Zloft

A wistdol ] AL Y Tl e cdnuAbEe] FFEE
of tigk olsi s FAE AiEAlel w=w ARl wALS A F7)
ofEwel thall olsl= shal ou ARGSk=H ofdwe =Xt

15
2
o
tlo
2
>
%

o
o

T Q= AU wAtE 72 34%, 39%, 42% % ARNrE HA] ekgkt,
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